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T FIRST REVISION EXAMINATION 2025

10-std . N MATHEMATICS

‘_T;IME:S.O'O Hrs = , | ' ' . MARKs:100
_ “ PART | |

CHOOSE THE CORRECT ANSWER:  * » e T aaxasg

A={a, b, p} B= {23}, c={p.q, rs}then n[(AUC) X B] is
(a) 8 (b) 20 (@12  (d) 16
2.1 fisa ldentlty Ribition, fhanthe value of f{1)-2A(2)+£(3) is
(@)1 (b) 0 - (e (d) o= TR : e

3. GivenF;=1, F2—3and Fo= Foqt+ F, zthen F5 is "

@3 - (o) 5 ()8 (11 -
3 1 1 1 & )
4. The next term of the sequence —, =, T e e
P, , 16" 8 12’ 18 »
P 1 3T e 1
€] 54 b) == (© Py (d) i
A is : s A W . e
wed y e B8R R S T g Rtae
9y REI | gy 21y?azy421 7(? —2y+1)
(a)-7 (b) iy-21 (c) —3‘),‘3——‘ : (d)_—y_z—— . ~
1 3,57 | , g
6. ForthegivenmatrixA=|2 4 6 8 | theorder of the matrixATis
: - 9.11 13 15 ' k ‘
(a) 23 (b)3X2 . (c) 3X4  (d) 43

7. Two poles of heights 6m and 11m stand vertlcally on a plane ground if the distance between thelr
feet is 12m, what is the dlstance between their tops’-’

(@13m  (b)14m - (c)15m - (d) 12.8m e

8. The area ef,triangﬁle"forme‘d by the peints (-5,0), (0, -5) and (5; O") is
(a) O'sg.units ('b)' 25 sq.units (c) 5sq.units ~ (d) none of these
9. The value of ‘@’ if the lines 7y =lax+4 and.2y =3- x are pafallel

-7

IR

NiN

75 . -
@s; b 2z, : ‘ |
| e RS-1, 16-MATHS (EM) P-1

Kindly Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

10. If the ratio of the height of a tower and the length of its shadow is NERE 1 then the angle of
elevation of the sun has measure -

(a) 45° s (b) 30° (©) 90° - (d) 60°

11. If two solid hemispheres of same base radlus r units arejomed together along their bases, then
urved surface area of this new solid is

(@) anr? sq. units " (b) 6mr? sq units 'A (t:) 3772 sq.units

[y

12. A frustum of a right carcular cone is of helght 16 cm with radn of its ends as 8cm and 20cm. Then
the volume of the frustum is.

(d) 8mr? sq.units ’

@) 3328w cm® (b) 3228mem® ' (c) 32407mcem®  (d) 33407 cm?
13. Varlance of first 20 natural humbé’rs is
(a) 32. 25 (b) 44.25 (c) 33. 25 (d) 30

'14. A letter is selected at random from the word ‘ PROBABILITY’ then the probabllnty that the letter is
not a vowelis -

N A = I -'()—

11 11 ‘ . ) ] ' , ) ) )
' - PART 1l . '_
ANSWER ANY 10 QUESTIONS QUESTION NO.28 IS COMPULSORY: 10X2=20

15. LetA=1{1, 2 ,3}and B = {x] X is a prlme number less than 10} Fmd A x B and B xA

16. Let f be a function from R to R defined by f(x ) = 3x -5. Findthe values a and b glven that (a, 4) and
(1,b) belong to f. ~

17. 1£13824 = 2° X 3" then find a.and b. ,
18. Find the sum of 102, 97,92, ...upto 27 terms.
19. Find the LCM oF 27, C(x3) i x

20. Solve 2x* -3x—3 =0 by fol’mula method._S et s = ; : o 3
o TR AN "  Ya—b 2a+¢ 1 5
21. , : : - =

1. Find the value of a, b, c, d from the equation [Za — b 3c+ d] [0 2]

22. Intwo concentric circles, a chord of length 16 cm of larger circle becomes a tangent to the smaller
circle whose radius is 6 cm. Find the radius of the larger c1rcle :

23. Show that the given points are collinear (-3,-4), (7,2) and (12.5).

24, A player sitting on the top of a tower of height 20 m observes the angle of depréssion of a ball lying
on the ground as 60°. Flnd the distance between the foot of the tower and the ball. (v3 =1. 732)

RS-1 10 MATHS (EM) P-2
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. 34.ifa , Barethe rootsof 7x*+ax+2 andif B -«a _—713 :

~ 25. The curved surface area of a rlght cnrcular cylmder of height 14cm is 88cm?.
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1

Find the diameter of
the cylinder.

\

26. Find the standard deviation of firsf 21 natural numbers.

27. Adiei is rolled and a coin is tossed snmultaneously Find the probabnllty that the die shows an odd
number and the coin shows a head

28. The slant height of a frustum of a cone‘is 4m and the perlmeter of circular ends are 18m and 16m.
Flnd its curved surface area.

PART -

ANSWER ANY 10 QUESTlONS QUESTION NO. 42 lS COMPULSORY ' y - | 10X5=50,
29.- Let A={1,2,3,4} and B={2,5,8,11,14} be two sets. Let f: A— B be a function given by f(x)=3x-1.

Represent this function (i) by arrow dlagram (ii) in a table form (iii) as-a set of ordered palrs (iv)ina
graphical form.

30. If f(x) =x*; g(x) = 2x and h(x) = x+4 . Show that (f o g) o h fo(goh).
31. The ratio of 6th and 8 0 term of an A Pis7:9. Flnd the ratio of 9" term to 13“1 term .

32. Flnd th(e sumton terms of the series 0.4 + 0.44 + 0.444+... to n terms.
33. Find the square root of the polynomial  +37x% - 28x° + 4x' + 42x+9 by division method -

.. Find the values of .

1] o (e 2 e e R e e e
35. IfA= (1 3] 'B = [_4 2] G —’.[3 2] VenfythatA(B+C)—AB-_l-AC., A
36. State and prove anéle blsedtortheorem ' 1o |

37. Find the area of the quadrllateral whose vertlces are at ( 9 O), (-8,6), (-1, 2) and (-6, 3)

38. lfCOSZ =mand - Z:’:ﬁ,‘-n then provethat (m +n’ )cos ,B—n

39. The mternal and external diameter of a hollow hemlsphencal shell are 6 cm and 10 cm respectlvely
If itis melted and recast into asolid cylmder of diameter 14 cm, the find the helght of the cylinder.

40. The time taken (in minutes ) to complete a homework by 8 students ina day are glven by 38 40 47, .
44, 46, 43 49, 53. Find the coefficient of varlatlon

41, A box contains cards numbered 3,5, 7, 9,....35,‘37. Acard is drawn at random from the box. Find

- the probability that the drawn card have either multiples of 7ora primenumber.'

[ =g

42. A stralght ]me AB cuts the co-ordinate axes at Aand B. Ifthe mid_' point of AB is (2,3),_find the
equation of AB. ‘
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PARTIV. - -

* ANSWER ALL THE QUESTIQNS: 2xs 16

43.(a) Construct a trlangle similar to a glven trlangle ABC wnth its 5|des equal to = of the correspondmg
~ sides of the triangle ABC. (scale factor to - >1)

*

S (OR)

(b)Draw a cnrcle of radius 4 cm. At a pomt Lon |t draw a tangent to the circle using the alternate
- segment theorem. -

44 (@) A school announces that for a ‘certain competltlons the cash pnce will be dlstrlbuted for all the
participants equally as show below

8060 s [ 36¢
(i Find the eonstant of variation.

~ (ii) Graph the above data and hence find how much will each partmpant get if the number of
partnc:pants are 12.

(OR)

(b) Draw the graph’ of y'= x2-4x +3 and use it tosolve x*~6x+9=0 oo, e

i‘
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STANDARD -X MATHEMATICS

TIME : 2.00 Hrs ‘ ! : MARKS:100
‘ PART | .

CHOOSE THE CORRECT ANSWER: , 19X1=19

1. Let A={1,23,4) and B={4,8,9,10}. A function f: A B given by f = {(1,4), (2,8), (3,9), (4,10)} is a

(a) Many- one function (b) Identity function(c) One-to-one function (d) Into function

2. Let fand g be two functions given by f={(0,1),(2,0),(3, -4), (4,2), (5,7)}
g={(0,2), (1,0), (2,4), (-4,2), (7,0)} thenthe range of fo g is -
(a){0,2,3,4,5} (b) {- 4,1,0 2,73 (c) {1,2,3,4,5} (d){0,1,2}
3. Euclid's division lemma states that for positive integers a and b, there exist umque integers q
and r such that a = bg+r, where r must satisfy
(a) 1<r<b (b) O<r<b (¢) O0<r<b(d) O0<r< b
4. IfA=2%and B =2 +2% + 2% 4+ +2° which of the following is true? .
(a) B is 2°' more than A (b) A and B are equal (c ) B is larger than A by 1 (d) Ais larger than B
by 1 : :
x 8 . x2—7x+40 x2+7x+40 x2—7x+40
o= TF gives (a)(x—S)(x+5) ( ) (x=5)(x+5)(x+1) (c) (x+1)(x2-25) (d) .

x2-25 x246x+5
x2+10

(x+1)(x2-25) : :

6. If the roots of the equation q%x2 + p2x + r2 = Oare the squares of the roots of the
equation gx?+px+r =0 ,thenq,prarein - .

(a)A.P (b) G.P (c)Both A.P and G.P (d) none of these

7. If number of columns and rows are not equal in a matrix then it is said to be a

(a) diagonal matrix (b) rectangular matrix (c)square matrix (d) identity matrix

8. IfinA ABC , DE || BC. AB =3.6 cm, AC=2.4 cm and AD = 2.1 cm then the length of AE is

- (a)1.4cm (b) 1.8cm(c) 1.2cm (d)1.05cm

L ~ 9. Infigure CP and CQ are tangents to a circle with centre at O. ARB is -
. 1= . another tangent touching the circle at R. If CP =11cm and BC = 7 cm, then the
o length of BR is - §
(a) 6cm (b) 5cm (c) 8cm(d) 4cm
10. If (5,7), (3,p) and (6,6) are collinear, then the value of p is s
(a)3 (b)e (c)9 (d)12
11. When proving that a quadrilateral is a parallelogram by using slopes you must find
(a) The slopes of two sides- (b) The slopes of two pair of oppos;te s1des ( )The lengths of all
sides(d) Both the lengths and slopes of two sides - .
12, tan @ cosec® 0 —tan @ is equalto  (a) sec (b) cot® o (c)sm 0 (d)cot 6 .
13. acotf + b cosec 6 = p and bcot 8 + a cosec §- = q then p* -q? is equal to
(@)a.’*~b®>. (b) b>—a®> (c)a®+b®> (d) b -a
14. The height of a right circular cone whose radius is 5 cm and slant height is 13cm will be
(a) 12cm (b) 10cm (c)13cm (d)5cm
15. A shuttle cock used for playing badminton has the shape of the comblnanon of
(a) a cylinder and a sphere (b) a hemisphere and a cone (C)a sphere and a cone (d) frustum
of a cone and a hemisphere
16. The ratio of the volumes of-a cyllnder a cone and a sphere, if each has the same
diameter and same height is .
(a)1:2:3 (b)2:1:3 (c) 1:3:2 (d) 3:1:2
17. The standard deviation of a data is 3. If each value is multlplled by 5 then the new variance
is .

(a)3 (b) 15(c) 5 (d)225 .
18. If the mean and coefficient of variation of a data are 4 and 87.5% then the standard deVIatlon
is (a)3.5 (b) 3 (c)4.5(d) 2.5
19. The probability a red marble selected a random from a jar contammg p red, q blue and r

i - _r AR y_pHr
green marbles is Sa) [Hq” (b) e (c) ST (d) ey
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ANSWER ANY 7 QUESTIONS. PART Il b : A4 TXR=14

20. If AXB ={(32),(34),(52), (54) thenfind AandB.

21. LetA={1,2,34,..45} and R be the relation defined as “square is of a number on A Wrrte
R as a subset of A X A . Also find the domain the range of R. B E f4vetis !

22 ‘g‘and ‘b’ are two positive integers such that a? x'pb* = 800. Flnd a a‘n‘d ‘b‘..ﬁ

23. Find the number of terms in the A.P 3,6,9,12,...111. s xRt (o

5 2 "
5 —4N
24. A=| —VI7 07 %] thenverify (A)'=A 25 VerrfythatAZ—l whenA ( =s)
8 3 1

26. If AABC is similar tg A DEF such that BC =3 cm, EF = 4 cm and area of AABC = 54 cm?
Find the area of ADEF. » 3 = o :
27. Find the area of the triangle whose vertices are (1,-1), (-4,6) and (- 8 5)

28. Find the range and co-efficient of range of the following data 25, 67,48,53; 18 39 44.
29. what is the probability that a leap year selected at randorn will contain 53 saturdays

PART Il

4

ANSWER ANY 7 QUESTIONS. 7X5=35
30. Let A = {xe W| x<2}, B = {x eN| 1<'x =4} and C = {3,5}. Verlfy that (AUB) XC = (A>\C)

g

(BXC) gl 23 &

31.Let f: A »B be a function defined by f(x) = = -1, where A ={2, 4 6 '10 12} B~ |
{0,1,2,4,5,9}. Represent f by (i) set of ordered pairs (i) a table (n) an arrow dragram
(iv) a graph Ce (i_‘, i gy ®
32. Find the sum to n terms of the series 3+33++333+_tONterms - . gy i 03

33. Rekha has 15 square colour papers of sizes 10cm, 11cm, 12cm,.. 24cm How much area
can be decorated with these colour papers'? : e (T D

34. Find the square root of 64x" — 16x3 + 17x? — 2% + 1 L e IenE

35. IfAE 2 %1 show that A2 — 5A +7 |, = 0 o tiigna!

36. Stat

and prove Thales theorem. ittt
37. Find the area of the quadrilateral whose vertices are at (- -9, 2)( 8 4) (2 2) and 1) 33

38. A teacher asked the students to complete 60 pages of a record:note book Elght
students have completed only 32,35, 37, 30,33,36,35 and 37 pages Flnd the -standard
deviation of the pages completed by them. s iptal g0, Al
39. Two dice are rolled togéther. Find the probability of getting a-doublet or sum‘of faces as: 4
PART Y, w8 = ~® % Deads &4 a2
ANSWER ALL QUESTIONS: e s AX8=32
(QUESTION NO. GIVEN AS PER PUBLIC EXAMINATION) ' .

43.(a) Construct a triangle similar to a given triangle ABC with its sides equal tQ WSr{of the

corresponding sides of the triangle ABC (scale factor to- >1) : : k ks 190 ¥ "

(b) Draw a circle of radius 4.5 cm . Take a point on the CIrcIe Draw the tangent at that pomt ;
using the alternate segment theorem. s oo e

~

44 (a) A two wheeler parking zone near bus stand charges as below F ‘. \.::\; Eot .

DE R ) . B i S e
e S ROTIE e DaESR ey DT R

L 4 8 12 24

Amount AR o I 120 180 360 Wapy A (@ L
i . LInapastad '

Check |f the 'amount charged are in direct variation or in inverse variation to the ‘parking time. .
Graph the data. Also (i) find the amount to be paid when parking time'is 6 hr (u) frnd the parking,
duration when the amount paid is ¥ 150

(b)Draw the graph of xy = 24 , x, y > 0. Using the graph find , (i) y when x = 3;and (il) x When y = 6
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